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Проблемы, связанные с перегрузом. Словообразование имен существительных имен прилагательных.

	№ п/п
	Этап занятия
	Время,

1 ч 30 мин
	Прием и методы

	1
	Организационный этап
	5
	Приветствие, проверка посещаемости. Постановка цели и задач урока. Мотивация учебной деятельности обучающихся.

	2
	Проверка домашнего задания
	10
	Разбор ошибок и пожеланий присланных на электронную почту работ. 

	3
	Актуализация знаний
	10
	Онлайн консультация по заданиям. Повторение пройденного, выполнение заданий. Выполнение первых упражнений.

	4
	Изучение нового материала 
	40
	Онлайн изучение лексического и грамматического материала, выполнение упражнений, составление индивидуальных заданий. Чтение и перевод текста. 

	5
	Закрепление изученного материала
	15
	Самостоятельное изучение текста, устный опрос вопросов по тексту онлайн. 

	6
	Подведение итогов, рефлексия
	10
	Контроль усвоения, обсуждение допущенных ошибок и их коррекция. Ответы на вопрос.

	7
	Домашнее задание
	
	Информация о домашнем задании, инструктаж по его выполнению

	
	
	
	


Ex. 1. Mind the new words and expressions

agreement – соглашение, договор
allocation – размещение, распределение
authorization – санкционирование, разрешение
charge – расходы, издержки, налог, сбор
coach – пассажирский автобус, вагон
crucial – наиболее значительный, важный
distorting – искажающий, деформирующий
to exercise – использовать, осуществлять, проявлять, применять
flexibility – гибкость
to hamper – препятствовать
haulage – перевозка, транспортировка
impact – сильное воздействие, удар, толчок
levy (v, n) – сбор, взимание пошлин, налогов
in regard to – в отношении, что касается
saturation  – насыщение

to settle – регулировать, устанавливать

to strive – бороться, прилагать усилия

taxation – налогообложение, размер налога
toll(v, n) – пошлина, облагать платой за перевозку

victim – жертва
Ех. 2. Match the word with the appropriate definition.

	legislation, operator, safety, toll, allocation, traffic, transport café


1. a person who owns or operates an industrial or commercial estab​lishment.

2.  an inexpensive eating place on a main route, used mainly by long​ distance lorry drivers.

3.  the act or process of making laws.

4.  an amount of money levied for the use of certain roads, bridges, etc., to cover the cost of maintenance.
5.  accounting a system of dividing overhead expenses between the vari​ous departments of a business.

6.  freedom from danger or risk of injury.

7.  the movement of vehicles, people in a particular place or for a par​ticular purpose.

Ex. 3 Match the words and word combinations with the similar meaning.

	1. haulage

2. charge
3. toll
4. levy
5. in regard to
6. legislation
7. consequently  
8. crucial          
9. non-discrimination                              
	a. duty

b. critical/ urgent
c. therefore
d. equality
e. in respect to
f. tax
g. expenses, costs
h. law
i. transportation      



Ex. 4. Match English and Russian equivalents.

	1. absorption

2. accessorial services
3. bridge toll         
4. revenue unit of service   
5. cargo-carrying capacity  
6. constructive mileage 
7. joint agents
8. traffic capacity
9. traffic density
	a. грузовместимость транспортного средства
b. пропускная способность пути сообщения
c. совместное транспортное агентство (несколько пред​приятий)
d. дополнительное обслуживание при перевозках
e. принятие на себя обяза​тельств другого перевозчика без увеличения стоимости доставки
f. плотность транспортного потока
g. мостовой сбор
h. расчетная [калькуляцион​ная] единица    
i. условия дальности перевозки                            


Ех. 5. Find in the text international words and translate them into Russian.

[image: image4.emf]Ex. 6. Read the text and say what you have learnt about European roads.

   Day and night, hundreds of thousands of lorries travel across Europe's main arteries. This mode 

of transport has two major and obvious advan​tages: its flexibility and its ability to carry      goods and passengers door-to- door. This is the  reason  why European companies clearly prefer the road    network to distribute their products throughout the Union.

     Road transport is clearly an important factor underpinning the develop​ment of the European internal market. The more this market opens up and becomes unified, the more the sector benefits in terms of its own growth.
     Every operator in the sector has the right to settle and freely exercise his activities throughout the Union.     The road haulage sector is the victim of its own success. Its steady growth – together, of course, with that of car traffic – contributes to the increasingly frequent saturation of the capacity of Europe's roads. The need to share infrastructure with other road users also raises the im​portant question of road safety. Another consequence is the impact on the environment, in par​ticular in connection with greenhouse gas emissions and climate change. The central element of this problem is the ever growing number of vehicles operating in European road transport, now over 20 million.
     The sector of passenger transport by road shares with the road haul​age sector a number of identical rights and obligations: freedom of estab​lishment, access to the market, compliance with conditions of competi​tion, vehicle safety and safe driving.           Road transport plays a direct role in developing the European internal market. Moreover road transport also has to meet challenges connected with its success: network safety and saturation impact on the environ​ment. 

Ex. 7. Answer the following questions.

1. What are the major advantages of lorries?

2. What problems does the road sector have?

3. What challenges does road transport have to meet?

Ex. 8. Substitute the words in Russian with their appropriate equivalents in English.

1. The steady growth of (сектора дорожных перевозок) contributes to the (насыщенность) of the capacity of Europe's roads.2. Many EU (правила) applying to (грузовики) also con​cern buses and (пассажирские автобусы). 3. The ever-growing number of (транспортные средства) operating in European road transport, now over 20 million, is a contributing factor of the (воздействие) on the (окружающая среда), in particular in connection with (парниковый) gas (выбросы) and climate (изменение). 4. The sector of (пассажирский транспорт) by road shares with the road (перевозки) sector a number of identical (права и обязательства): (доступ) to the market, (безопасность транспортного средства) and (безопасное во​ждение). 5. The need to (делить) infrastructure with other road (поль​зователи) raises the important question of (дорожная безопасность).

Ex. 11. Translate the following sentences into Russian. Mind the use of the modal verbs.

1. Quality assurance must be built into the system, deviations must be defected and corrected before the consignee recognizes the problem, not afterwards. 2. The transport operator has to be able to predict and keep to time windows at both pick-up and delivery locations. 3. The transport market may be characterized as a highly regulated market with primitive mechanisms to match supply and demand. 4. There is little information on how road users might respond to a complex structure of charges and hence how effective a complex system might be. 5. In order to know where you need to get to, you must know where you were presently situ​ated. 6.The shift from private car to public transport can be encouraged by a more efficient and comfortable transport system. 7. The role of the taxi in avoiding traffic jams should and could be en​larged.

Ex. 12. Translate the following sentences into Russian. Mind the use the passive voice.

1. Changes in the supply of transport services are affected by human technologies, customer demand and external cost. 2. Many characteris​tics of transport demand are influenced by a multitude of simultaneously occurring tendencies. 3. In Helsinki the road dust problem is mainly blamed on winter sanding and has been addressed since the 1980s. 4. Transport and transporters are influenced by the changes in political and public opinion, by the rapid development o f telecommunications and so on. 5. The capacity of existing European waterways is not fully utilized. 6. The need for sustainable mobility and alternative land use policies has recently been recognized. 7. For some agro industries the cost of the raw material waiting at the reception area is affected by the deterioration of the perishable products transported by trucks.

Ex. 13. Give the main points of the text in 10-15 sentences. Use the fol​lowing clichés: 

The text deals with.... The author points out that... . It should be re​membered that... The author comes to the conclusion that... .

Грамматический материал
Ex. 14. Изучите грамматическую тему. Составьте с существительными и прилагательными 10-15 предложений на основную тему урока.
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Домашнее задание.

Составить кроссворд с вопросами (20-30 слов) по теме урока. 
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Примечание

ОДИНАКОВО ВЫПОЛНЕННЫЕ РАБОТЫ НЕ ПРИНИМАЮТСЯ, ИХ НУЖНО БУДЕТ ПЕРЕДЕЛЫВАТЬ!! ЗАДАНИЯ ВСЕ ДОЛЖНЫ БЫТЬ ВЫПОНЕНЫ ИНДИВИДУАЛЬНО!! 

 Задания сдать в электронном виде 10.04.2020 до 13.00 на электронную почту Ludmila-n621@mail.ru
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